plh= B (RN A A [P - A

B B

2

g

LLIS

y

—

o

N|
-F .

365
1588

12-16
©.4%0

@ 82)

M 0\8

100 m

Gl

M

il

oE5<vTk—IL

18<kR—IL

285<v2hk—IL

357 hk—IL

45T k—IL

1B UR—IL—60%Xx90

HoBTUR—IL——120%x90

MNOFETHR—IL (NZE2 0 cmAR)
MAOE<HR—IL (RE25 cmAR)
MAOE<HR—IL (RE3 0 cmAR)
NAOET FR—IL (RE3 5 cmAR)
NaAOET R—IL (RE4 0 cmAR)
MAOE<THR—IL (RE4 5 cmAR)
MAOE<THR—IL (RES 0 c mAR)
MAOE<THR—IL (RES5 5 cmAR)
NAOFET R—IL (REG6 0 cmAR)
NAOFET R—IL (RE6 5 cmAR)
MNOFE<TR—IL (RE7 O cmAR)
MNOFETR—IL (RE7 5 cmAR2)
MAOFE<HR—IL (AE8 0 c mAR2)
MAOFE<THR—IL (RE8 5 cmAHR2)

HIK< R—IL

RKEHBLT > HR—IL

BRvhk—IL

< ok—IL

BHFET

EEASKEY

BKET

BEERASRKEYT

ERNARKET

WRFET

®lo|e|o|e|0|e|e|O®IO|O|OO|O|O|O|0|0|6|6|60|0|0|0|®|0|@|O0|0|®|O

RIERFEY

-
-
kR
S+ B &
R W O BE M 4
v R E i

(1.49) =250 HP 21.3 %. 10.35 ( 1.40)

49.367 -

A 717

49.147

it |~
6.4 @

T R

Tk o 3 N RHEE

RIS [




